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M SALED
M TAAE & ORE
el F2 2 s (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
[Ea 70,000
01 AlZ2H| 100,000 100,000 0
Od"HIE JI¥ cteas2 gAY 100,000
s 30,000
s 70,000
S0 Ol 2t ZHIM(EX) 20,000 20,000 0
& 6,000
= 14,000
401 Al HIZL 201 20,000 20,000 0
= 6,000
o 14,000
01 Al&H| 20,000 20,000 0
OZ==ofl el 210 - =2 JHIAY 20,000
= 6,000
o 14,000
ndzae| A= 157,600 178,800 21,200
T2e|H=(Z2E)HE 157,600 178,800 21,200
201 2= 9,100 9,800 AT700
01 AtR2t2lt] 9,100 9,800 AT700
OLNdzZHE S Ee+G
100,000 x13E 73] 9,100
203 HR=AH] 1,500 1,500
03 A= PR FAI| 1,500 1,500
ozZ2c|AHE HRFH 1,500
308 XM SOIE 10,000 7,500 2,500
18 SIS B & HASAIE 10,000 7,500 2,500
odlEs1l=s 2,000,000& %52 10,000
401 AIEHIZ R HYI 137,000 160,000 A\23,000
01 Al&H| 137,000 157,000 /20,000
OIS LEST ¢ TASLAHE =8
= 100,000
OTAIHEHEHAH(PIS) BXE HHl & 20,000
O AIHEHEHAH(PIS) 2EEHI FX2te|
= 17,000
AOIEEEAl 24 83,000 0 83,000
CAIONY SEEUS 25 83,000 0 83,000
401 Al HIZL S 0HYI 83,000 0 83,000
01 Al&HI 83,000 0 83,000
OADIE AN Y SEHEAE SN2+ 83,000
SAAIEEH 5,173,100 6,044,800 A871,700
= 1,027,000
Ea 4,146,100
CAAE RS S2EBISA 577,000 462,000 115,000
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E M

SA WS
SAIAE SO

chelr SAIAEE] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 15,000 10,000 5,000
01 At2teltl 15,000 10,000 5,000
OZAIRE L &E2 &7 ZLAY 15,000
401 AIEHIX R0 562,000 452,000 110,000
01 A28l 560,000 450,000 110,000
OZAAHEEZ SM )| 100,000
O2:==% JHl 210,000
OZAIHEEZ KAIZe|A 100,000
ORXZeIAS THEHE 150,000
Olds TAAHEEZ 7Al2e 50,000
O3lstH TAIHEEZ =2 50,000
ONFE TAAHEEZ RA2e] 50,000
03 Al 20HHI 2,000 2,000 0
OAIZ20HHI 2,000
CEANESHA2L 19,100 13,800 5,300
201 er2 3| 19,100 13,800 5,300
01 AtR2telHl 8,000 3,000 5,000
OXIGHAtE Hud M) 2G
250,000 * 122 3,000
O&stiloiate 8o 5,000
2 35244l 11,100 10,800 300
O&S Kot 332
500,000& * 122 6,000
OSANHEZE JI2S HIIR3
300,000 * 12 3,600
OEAAHEEZ Bz RFE=
100,000 1524 1,500
SAAEEZZIHE SA 1,855,000 2,005,000 A150,000
401 Al HIZL 01| 1,855,000 2,005,000 A150,000
01 Al&H| 1,850,000 2,000,000 /150,000
O=AAHE=2IHM 1,150,000
ODEZW~DHMHSHAN £2(221-35H
Il 300,000
OFell FHEZ (22245 H) HE 300,000
OnEEM2~-324R2t C2(A22-1254H)
A 300,000
OstE~gehsSZHAZ363H) A 250,000
OEXl HHI 700,000
OLHUS-IAsHESAR E2(222-125
&) 2 2A 400,000
Ogs ZAHEZZ(ARFHMSH) HE 200,000
OFAAHEEZ DISEN 2o & =M
INER=RY 100,000
03 AIESTHYI 5,000 5,000 0
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33 SAAE O
o2l SAIAIEEH (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| ons=ay 5,000
DADXE~UHREATR S 2(S21-108H ) HE S AL 500,000 500,000
401 AlEHIZ S 0HBI 500,000 500,000
01 AlZH| 500,000 500,000
@J.LA|’J.LK|’§ eIt E2(521-105
&) He 500,000
g SAHECZ(SZ21-11EH) HESA 1,156,000 600,000 556,000
401 AIEHIZ SR 0HYI 600,000 600,000 0
01 Al&HI 600,000 600,000 0
0gs TANEEZ(E21-115H) He 600,000
403 AXIEHMSXH=01& 556,000 556,000
02 SISOt 2 S A AIEHI 566,000 566,000
Ogs TANECZ(SFLNUZ) =& B
3 556,000
g2 SIIHE =8 HAAE TEAMY 1,027,000 229,000 798,000
[ 1,027,000
401 Al HIZL 201 1,027,000 229,000 798,000
= 1,027,000
01 Al&HI 1,027,000 229,000 798,000
OEZE =J101g =8 AAHAIE ZEAY 1,027,000
= 1,027,000
=8 & 0l 43t 39,000 35,000 4,000
201 fer=3| 1,000 0 1,000
01 AtR2te|HI 1,000 0 1,000
OXENHEY 822 MA 1,000
307 elztol & 38,000 35,000 3,000
06 2= 38,000 36,000 3,000
Oz N&EA 018 USEE XA 38,000
CATHEALS 2,141,957 3,578,500 1,436,543
= 1,663,000
< 332,800
= 146,157
CANY mEAY 2= 146,157 96,500 49,657
101 @124H| 117,657 64,000 53,657
M JIZtHZ22 S 2 117,657 64,000 53,657
OSAIHMXIZHE 212b] 117,657
OHIEZ (62 1338 JIFE) 64,281
—Jl2=s 3,358,200« 122 +1 40,299
—Al2tel=g, 282 < 23,982
OgH(T2NES) 29,028
—JlZ2= 3,033, 1002 6@ «1H 18,199
—AiZteld, B8z 2 10,829
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3 (8285 3) 24,348
—JlZ2= 2,459,900 6@« 1H 14,760
—A22E, 288 2 9,588
201 =3 8,000 32,000 24,000
01 At22t2l] 5,000 7,000 22,000
OZAIHEAIY 2SHI 5,000
2 352484l 3,000 5,000 /2,000
OZANY SSO0ISAIE 2g22HIS 3,000
203 HR=AH] 500 500
03 A=A H =AY 500 500
OZ AT AIHPRFE 500
401 AlZHIZ SO 20,000 20,000
01 AlZ28| 20,000 20,000
ogdstie =g(8g) & NES |X2el 20,000
AT =LAE (SUXI) 1,995,800 1,639,000 366,800
= 1,663,000
=S 332,800
101 @124H| 106,752 102,700 4,052
= 106,752
M ORNZZ2NSE S 106,752 102,700 4,052
OSAITHMXIJHEH Q12| 106,752
og#E(r=s11E3) 58,057
—JlZ2= 3,033, 100& «12&«1H 36,398
= 36,398
—Al2tel=g, 282 2 21,659
= 21,659
Oga (8285 3) 48,695
—JlZ2= 2,459,900« 128 *1Y 29,519
= 29,519
—Al2tel=g, 282 < 19,176
< 19,176
201 fet=3| 208,048 73,000 135,048
[ 50,000
= 158,048
01 At22t2lt] 5,000 5,000 0
OZAINY XIHHE 2SI 5,000
& 5,000
02 s3=gHl 5,000 5,000 0
OZAITHA XIHHEH 22| 5,000
[ 5,000
03 A= 198,048 63,000 135,048
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SA WS

A CAHE L OH
el SAITHAANS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHURXIF X235 S SMAHHAZES
Ol 198,048
= 50,000
[ 148,048
301 EetE2 NS 2,000 2,000 0
== 2,000
11 dALEBIXNIZE S 2,000 2,000 0
OZAMNY HHEA FAXH &H| 2,000
= 2,000
401 Al HIZL 01| 1,679,000 1,262,300 416,700
= 1,613,000
== 66,000
01 Al&H| 1,679,000 1,262,300 416,700
OEUXI7 ZAITHHAS 1,679,000
= 1,613,000
< 66,000
nSHF A 7,748,014 6,767,839 980,175
= 329,220
[ 641,000
Jl 15,000
[ 423,807
T 6,338,987
Hsns=dg 2,012,025 1,601,665 410,360
= 116,720
Il 15,000
= 10,070
o 1,870,235
wsdy 24 799,529 764,877 34,652
201 er23y| 318,612 324,935 26,323
01 AtR2t2|HI 137,412 140,435 A3,023
Odgt+=h| 1,800
OYAIEE WMl XI&
200,0002 *66CH 13,200
OHAIZ AR HA-
100,000 4 & »23] 800
OfAl SIS 2ACIAAE 2] 1,612
OUSHHAEE =8 100,000
ORUNSEHEIMet Qo= & FHIIBA
2,000,000 *400H 2= 80,000
OusStlslls usSA&s 8J|HEEd
T8 100,000 #2004 2 20,000
OHAWSIHEAAE 2| 20,000
02 s3=gHl 181,200 184,500 23,300
0Z232= % HMAl 181,200
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OusSefi SEusst 24 90,000
= 90,000
HISHMEHAl 2 157,080 0 157,080
Jl 15,000
= 142,080
301 EtE NS 157,080 0 157,080
Jl 15,000
o 142,080
14 DBt 2 a3 157,080 0 157,080
OB @Al 29
100,000 374 *70%+6E 157,080
Jl 15,000
s 142,080
Al 2 2E 87,000 107,000 /20,000
= 7,800
= 79,200
301 EtE NS 87,000 107,000 220,000
= 7,800
= 79,200
14 DBt 23 87,000 107,000 220,000
O=Al 2 2E 87,000
= 7,800
[Ea 79,200
NE2EN 28BS NAEHE XRAS 23,070 30,000 26,930
= 6,920
= 5,270
Ea 10,880
301 EetE2 N = 23,070 30,000 26,930
= 6,920
= 5,270
= 10,880
14 DBt 23 23,070 30,000 26,930
OGN SHHY AHAEHe X2 A 23,070
= 6,920
= 5,270
s 10,880
UHEnsSHl 2= X2AS (K-THA) 24,000 5,800 18,200
= 12,000
< 4,800
= 7,200
308 XXM SO0IH 24,000 0 24,000
= 12,000
== 4,800
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M SALED
33 IS A
el 28 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
s0E =0 & WSItE 243 XY AL 34,000 34,000
307 elztol & 34,000 34,000
09 2+ AELS 34,000 34,000
OTZUHA WSIE 106 =2 X 34,000
BARs JtE2M =2 K& 28,882 21,000 7,882
= 5,882
o 23,000
307 @12t0| & 28,882 21,000 7,882
== 5,882
o 23,000
09 2 AHEXS 28,882 21,000 7,882
OHAIR= H=ZN =2 K& 28,882
< 5,882
s 23,000
SOHEHA HWEXAS(XEH) 1,000,000 1,000,000 0
307 el2to| & 1,000,000 1,000,000
B 2=gHEXS 1,000,000 1,000,000
OsHEHA THEXIZS 1,000,000
DEHFHAl 29 540,000 410,000 130,000
[ 270,000
= 135,000
Ea 135,000
301 LEetE N = 540,000 0 540,000
[ 270,000
= 135,000
= 135,000
14 IIEt2 83 540,000 0 540,000
OLYH=HAl 2 540,000
= 270,000
[ 135,000
T 135,000
sEE WEZY A (HAE) 286,000 286,000 0
= 143,000
Ea 143,000
307 el2to| & 286,000 286,000 0
[ 143,000
o 143,000
05 git?(& = 286,000 286,000 0
Olds =8tA 23 166,000
[ 83,000
o 83,000
O=2SEd SHA 2 120,000




A CADED
g NSHME A
el 28 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 60,000
s 60,000
SEE WERY AL (HAE)(XHA) 154,000 154,000
307 el2to| & 154,000 154,000
05 2I2HRIE S 154,000 154,000
Olds =8tA 28 154,000
SOHEHA HAR=H S22 126,000 124,000 2,000
307 @12t0| & 126,000 124,000 2,000
09 2FHHEXS 126,000 124,000 2,000
OSHEHA HEQ=H =424 126,000
HRIHAI2+SA M IHEH] XA 17,400 14,400 3,000
S 5,220
= 12,180
301 LEtE NS 17,400 14,400 3,000
= 5,220
o 12,180
02 A2 XSG (FHAAHS, NSWE) 17,400 14,400 3,000
EHOIEHAl 2+=SALL XM2IH &I 17,400
= 5,220
o 12,180
MattHA 2 K& 425,000 0 425,000
= 212,500
= 106,250
o 106,250
402 2I2F X201 & 425,000 0 425,000
= 212,500
= 106,250
o 106,250
02 QI X2 AL E R (0IHTHR) 425,000 0 425,000
OM&HA 2 X& 425,000
= 212,500
= 106,250
= 106,250
CSEAl LA KIE A 2,000 0 2,000
= 600
o 1,400
307 @120l & 2,000 0 2,000
s 600
s 1,400
02 LB AANHEE 2,000 0 2,000
OL-=EAl WM XIZAH 2,000
< 600
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SN EADSD
s SR
el 28 A (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
| = 1,400
TAIHA AR SSUHLER X KA 8,624 0 8,624
== 2,464
[Ea 6,160
307 212+01& 8,624 0 8,624
< 2,464
s 6,160
@ DRABUNRRE 8,624 0 8,624
OTAIHA ARIKILH SSHEX 81 X
A 8,624
= 2,464
=z 6,160
wWSAE= 2 1,514,083 1,514,603 A520
== 131,000
o 1,383,083
HASZHUI|A 2l 309,083 278,603 30,480
101 e124d| 40,803 40,111 692
M JItHZ2 RS2 40,803 40,111 692
OLAIAR 2121t 40,803
@)uFal:] 80,2403 +752+6 36,108
LT 36, 108, 0002!+13% 4,6%
201 2= 44,000 20,500 23,500
01 AtS2t2ltl 35,000 13,000 22,000
OMZ(HIS)H 6,000
OEDIE(HAS2E) ALE L =84S HX
ol 2,000
O AQH|T 4adH 5,000
OSUEHAT ST TS 72 22,000
02 IZ2YH| 9,000 7,500 1,500
OEDIE ¥ A0IHEY ARD 24
3,000,000 *37H 2 9,000
307 lztol & 101,280 94,992 6,288
06 S22 01,260 94,902 6,288
OHASAMDIY Ha DIt
16,0002 *4150 A% 123 79,680
OHISEDIE 22| DI2tele!
1,800,000 ~12& 21,600
401 A2 HIRL R 0HbI 123,000 123,000
01 Al&H| 123,000 123,000
OHASADIY M ¢ DR
7,500,000 * 1004 2~ 75,000
OHASANIIY 24 30,000
OWASAUINIA BHYZ EDXY &5
1,800,000 #1000 2 18,000
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el WSAlEE 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ATAIEZS 22 903,000 819,000 84,000
401 Al HIZL 201 903,000 819,000 84,000
01 Al&HI 903,000 819,000 84,000
OustsI| & BES 2el 190,000
OL%F wsdsJ] e
70,000,000 *1IH £ 70,000
OL% DEFRS HHu
20,000,000 #2012 40,000
Ok= I XIE i
20,000,000 * 100 2 20,000
OusSals)| a4
40,000, 0002 174 2 40,000
ORELSAS JHHiet Ha
10,000,000 *2JH 2 20,000
OuSUHHAIEE FRA2= 320,000
Ousdsl| RAE 110,000
O=Z=LSUSAIAY X2+ 30,000
OuSHEE dE & RAL+ 70,000
OUSLHEA A& & RANE= 110,000
ORAUSHEHH €X 330,000
ORI SHEAHI(MS ) M-
60,000,000 *1IH 2 60,000
ORI NSHEFHI(UE) AL
30,000,000 *7IH 2 210,000
OlAdacH2Enx2
60,000,000 * 100 2 60,000
OSFZ &l €Xl 28,000
O2HE: F25 &1
7,000,000 *40H 2= 28,000
olegad HAZ 4X
5,000,000 79K 2~ 35,000
NHWE HEEH A (HEALY) 262,000 200,000 62,000
= 131,000
o 131,000
401 AIZHIX 20HH 262,000 200,000 62,000
== 131,000
o 131,000
01 Al&HI 262,000 200,000 62,000
OULSHTAIZEZ HH
10,000,000 *50H 2 50,000
& 25,000
= 25,000
OS&=2 MEHI 20,000,000 #20H 2 40,000
= 20,000
o 20,000
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A SAIE
M DSHI M
Rl WEAEE 22 EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OQtMAA WA 40,000, 0003 #2042~ 80,000
= 40,000
[ia 40,000
oHIZHASS &X|
40,000,000 *10H 2~ 40,000
S 20,000
[ia 20,000
O0BI0IES 7Y AMEHZAL
4,000,0002 1304 2 52,000
== 26,000
[ia 26,000
Al EH =4 A 40,000 40,000
401 AIEHIZL 2 OHYI 40,000 40,000
01 AlZHI 40,000 40,000
O%Al &l =8 AE 40,000
FAEN EE 123,000 132,550 A9,550
=8 =X H5 123,000 132,550 A9,550
201 Zet2& ] 71,000 65,550 5,450
01 AtR2telbl 34,000 34,550 AB50
OsY=Fdxt &% 2 USENEST 8 2,000
OXtsxrZeld A8t OXA
70,0003 *102f A 700
OZFXISY AT A BHLL
100,000 x5 & %12 500
O0IsAEtEItet R+
1,450,000 *4=2 71 5,800
ONFEHEIet T2+
4,000,000 4221 16,000
OSYFIXNHSLEALY RANES
1,200,000& 42| 4,800
OSRTHLSH U LUK NSX 2eAL
8 |2 360,000 123 4,200
02 S3=24Hl 37,000 31,000 6,000
OSYFINHSLSAAYE ZNAMNEZ
1,000,000 427 4,000
OFEXRY Ueis DX SERS
2,500& 1,000+ 122 30,000
OSYFEX RUHSAIAY FH| == 3,000
301 LENZ 2,000 2,000
14 DBt 2 a3 2,000 2,000
O3 = NSt S+AIEEY AP Al Nxat
3 2,000
401 AIEHIZL R OHYI 50,000 65,000 15,000
01 AlZHI 50,000 65,000 /15,000
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2A:

c
—_
M nsdE e
=
s

el EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsYHTgxHS =X =4 2 AlEdE 4
Xl 50,000
OFA =8 HAl 25,000
O=FZXt Ald28 2l 25,000
DEEEXR 2,800 143,000 A140,200
DEEHEXE E AAMBIHE 2,800 143,000 140,200
VEECAE X FAHNE 2,800 143,000 140,200
201 eet23| 1,800 2,000 A200
01 AtR2t2|HI 1,800 2,000 A200
Odgt+=H| 1,800
203 =4l 1,000 1,000
03 A=A H R FZI| 1,000 1,000
OAI B FTHR =] 1,000
HH2IZH(ZAI RS 60,704 63,860 A3,15%6
Jl2ZH(SAInED) 60,704 63,860 A3,156
Y=L BH 4,200 4,200 0
203 =] 4,200 4,200 0
MU A2 LRSI 4,200 4,200 0
OFANEHE =AY
350,000& * 122 4,200
23| 27,704 29,660 A1,9%6
201 =3 27,704 29,660 A1,9%6
01 At2t2lt] 27,504 28,760 A1,25%6
OsAH| 9,000 x21H+34!x 122 6,804
Ogt+==H| 20,700
02 S3=gHl 200 900 AT700
O0s&sR= € MA 200
O] 28,800 30,000 1,200
202 04| 28,800 30,000 1,200
01 =LHOLI 20,160 30,000 29,840
O=3Udbl 20,160
02 XN 8,640 0 8,640
OZ A 04| 240,000& x 123 +3Y 8,640
HRES(SAIRS) 2,171,832 4,049,692 1,877,860
WRHHXE(ZARSH) 2,171,832 4,049,692 1,877,860
DI AIHEAN LRI E 4 SE3H HES 47,000 100,000 53,000
701 JIEtI HSHES 47,000 100,000 /53,000
01 JIEII AN ES 47,000 100,000 /53,000
OZII0IEY A4 SEH dES 47,000
AU EEH dES 2,124,832 3,949,692 1,824,860
701 JIEtRI HSHES 2,124,832 3,949,692 1,824,860
01 JIE=I AN ES 2,124,832 3,949,692 1,824,860
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2M: SAIDED
M NHRES(TARSH
o2l WRHAHXIE(SARSD (cte: M
(=] X XH Ctel( s (=] (==} OH E‘“.—jE =2}
OFXY S35 &2 2,124,832
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